
1 Andrew went driving around town one lazy afternoon.

He left his house at exactly 2:30 PM and got back home at exactly 4:00 PM.

How long did Andrew drive around town?

A 1 hour

B 1 hour 30 minutes

C 2 hours

D 2 hours 30 minutes

E 3 hours

2 Granola bars cost 85 cents each, oatmeal bars cost 65 cents each, and
chocolate bars cost 80 cents each.

How much more does it cost to buy two chocolate bars than to buy one granola
bar and one oatmeal bar?

A 10 cents

B 15 cents

C 20 cents

D 25 cents

E 30 cents



3 Jenna went to the park to collect some leaves.

The bar graph below shows the number of leaves she collected.

Which type of leaf did she collect the most?

A

B

C

D



E

4 The local bakery sold 46 cupcakes in the morning and sold some more cupcakes
in the afternoon.

If the bakeshop sold a total of 134 cupcakes during that day, how many cupcakes
did they sell in the afternoon?

A 68 cupcakes

B 72 cupcakes

C 78 cupcakes

D 82 cupcakes

E 88 cupcakes

5 Roy skip-counted backward by ten starting at 100.

Which of these numbers will he not mention?

A 10

B 30

C 50

D 75

E 90


